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1 非政府組織（NGO）是指政府以外的組織。其組成目的是希望透過人民的參與，建立一個國內或國際

性的公民社會。下列何者不屬於 NGO？ 

    

2 公民投票雖有其重要性，但並非任何事情均可用公投來解決。依據我國公投法的規定，下列何者可以

作為公民投票的提案？ 

   

   

3 有「鐵娘子」之稱的英國前首相柴契爾夫人，於主政時期深受新自由主義的影響，力推一系列的改革

措施。下列何者不符合新自由主義者的主張？ 

    

4 國際政治一般是指兩個或兩個以上的國家，在國際社會中所進行的政治、經濟、社會、文化等各層面

的互動。下列關於國際政治權力結構演變的敘述，何者不符合事實？ 

此之後主權國家才成為國際政治的主體 

歐洲因而成為當時國際政治的核心 

 

 

5 依現行法令之規定，下列何者在性質上並不屬於獨立行政機關？ 

    

6 「審議民主」的概念自 1980年代中期在歐美興起，被視為民主理論與實踐的重要轉向。下列有關「審

議民主」理論的敘述，何者錯誤？ 

 

透過公民共同的討論以凝聚共識 

 

 

7 各國的政府體制不盡相同，請問荷蘭的政府體制與下列那一個國家相同？ 

    

8 政府為了提升我國的生育率，提出 100萬元獎金徵求鼓勵生育的創意口號。上述作法，最主要是在增

強家庭的那一項功能？ 
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9 歐洲爆發歐債問題後，身為重災區的希臘除了獲得歐盟央行的金融援助外，更向另一國際組織請求紓

困援助，下列有關該組織之敘述，何者錯誤？ 

 

 

 

Bretton Woods Agreements） 

10 近年選秀節目大受歡迎，吸引不少懷有明星夢的人加入。參加者表示，「在別人的掌聲中，開始相信

自己是個受歡迎的人…」。這種說法較符合下列何種自我發展理論？ 

Erik Erikson）的危機發展階段理論 

C. H. Cooley）的鏡中之我 

G.H. Mead）的「主我」與「客我」理論 

洛伊德（Sigmund Freud）的「本我」、「自我」與「超我」理論 

11 性別平等是現代民主社會的重要指標，下列社會現象何者最符合性別平等原則？ 

 

 

 

 

12 新聞的標題及用字遣詞，可能誤導閱聽人對被報導者產生不當聯結的偏見。下列的新聞標題，何者較

容易產生上述現象？ 

 過四萬逃逸外勞國內流竄，移民署遭糾正 

  

13 若將我國政府體制與英、美兩國比較，依據我國憲法及相關法規之規定，下列敘述何者正確？ 

  

  

14 為保護消費者權益，消費者保護法第 19條規定：「消費者對所收受之商品不願買受時，得於收受商品

後七日內，退回商品或以書面通知企業經營者解除買賣契約，無須說明理由及負擔任何費用或價款。」

下列何者不適用上述規定？ 

 

 

 

 

15 「行政法人化」是政府再造的重要方向與策略，下列敘述何者最符合「行政法人化」的概念？ 

本的服務 

 

 

 

16 「行政行為」的類型多樣，也與人民的生活密切相關。依行政程序法相關規定，下列有關行政行為的

敘述何者正確？ 
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17 19歲的阿國在朋友慫恿下購買大麻菸，在第一次吸食時就感到頭暈，而暈倒在路旁遭到警方查獲。依

現行法律規定，阿國最可能面對下列何項處分？ 

    

18 小明與補習班簽訂契約，發現該契約中註有「一旦簽約，恕不退費」條款，若小明在課程初期與補習

班發生退費糾紛並進入司法訴訟程序，下列敘述何者最正確？ 

 

 

 

 

19 當朝野立委對某爭議法案僵持不下時，主席得宣布議案進入下列何項程序，以期能整合意見、達成共識？ 

    

20 一對年輕夫妻因經濟困頓，到賣場偷奶粉以哺餵家中嬰兒，被賣場人員發現後移送法辦。經檢察官起

訴後，承審此案的法官對這對夫妻的境遇感到同情，念在其為初犯且深表悔意，乃從輕發落，判決有

罪，但暫時不用入監服刑。依上所述判斷，該承審法官應是做出下列何種宣告？ 

    

21 某周刊爆料知名公司販賣的食用油中疑似混摻廉價劣質油後，擔任公職人員的阿仁接獲指示：「儘速

主動出擊、詳實調查、蒐集證據，了解並確認不法情事的發生，代表國家追查犯罪真相。」依上所述

判斷，阿仁應該是擔任下列何種公職？ 

    

22 假設臺、日兩國間是根據比較利益法則分工，若臺灣專門負責生產烏魚子，而日本專門生產櫻花蝦，

且兩國進行自由貿易。在不考慮其他條件情況，下列對於兩國間國際貿易的敘述，何者正確？ 

  

  

23 若某國之政府財政結構已達舉債上限、內需市場不振、國內外投資者裹足不前，但 GDP 的表現卻呈

現正成長的態勢。若從 GDP的支出面分析，試問對 GDP貢獻最多的應指下列何者？ 

consumption expenditure） investment） 

government expenditure） net exports） 

24 經許多醫學研究證實，吸菸者將引發中風、癌症等疾病，吸入二手菸可能引發的疾病與吸菸者無異，

相關研究指出在有人抽菸的工作場所八小時，相當於吸了六根菸，因而我國制定菸害防制法以規範相

關場所禁止吸菸，並且在菸品價格中徵收健康福利捐。下列針對上文的分析敘述，何者正確？ 

 

 

 

 

25 Ａ國近年來因需求不振導致景氣衰退，因此在經濟指標上，該國最有可能發生下列何種現象？ 

    

26 綠島某民宿業者捕殺保育魚類龍王鯛，引發民眾強力譴責，海洋委員會海巡署將民宿業者移送法辦。

依財貨的性質來分類，保育魚類龍王鯛屬於下列何者？ 
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27 阿軒去年五月購買一萬美元並定存一年，存款利率為 3%。若今年的匯率與利率和去年五月相同，美

元兌換新臺幣之即期買進匯率為 32元，賣出即期匯率為 30元。在不考慮其他條件的情況下，下列關

於阿軒投資美元定存收益的敘述，何者正確？ 

30萬元 

300元 

1萬 1000元 

32萬 9600元 

28 某國計算 CPI 時，只計算麵包、手機、衛生紙 3 種品項，下表為該國近三年三種產品價格與消費數

量。若以 T年作為基期，T+2年的 CPI應為下列何者？ 

年度 T T+1 T+2 

 價格 數量 價格 數量 價格 數量 

麵包 60 10 80 8 120 5 

手機 330 10 300 11 330 11 

衛生紙 10 10 15 10 25 5 

109 110 119 120 

29 製糖的原料除了甘蔗之外，另一種是甜菜。甘蔗是熱帶植物，只能生長在溫暖的南方，而甜菜卻是種

在雨水少的寒冷北方。假若歐洲今年因氣候變異，導致甜菜生產銳減，甜菜價格上漲，在其他條件不

變的情況下，則全球甘蔗市場將因此產生下列何種變化？ 

  

  

30 政黨與利益團體都在民主政治中扮演重要角色，下列有關兩者的敘述何者正確？ 

理念相同的人所組成的 

 

 

 

31 民事訴訟為解決私人之間紛爭的途徑之一，下列何者為我國民事訴訟法的相關規定？ 

    

32 員工因不滿老闆拒絕加薪，一時氣憤乃在個人對外開放的部落格裡，用「豬頭皇帝」來形容老闆，並

書寫不實言論，老闆無意中上網點閱，發覺該篇文章已有多名員工點閱，感覺自己名譽受損，乃向法

院起訴。依據上述，下列敘述何者正確？ 

 

 

 

 

33 為落實憲法保障人權之目的，我國設有釋憲制度，由司法院解釋憲法並統一解釋法律及命令。下列有

關釋憲制度的敘述，何者正確？ 

  

法委員需有 2/3以上聲請才可提出釋憲  
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34 阿勇於深夜侵入阿智的住宅，被阿智的鄰居阿文發現，並扭送警局。下列敘述何者正確？ 

 

 

 

 

35 醫院中急診室的醫師在工作時，常會受到病患家屬的暴力相向，因此一群關心自身權益的醫師，希望

能修改刑法加重相關刑責。關於醫師的修法建議，下列說明何者正確？ 

 

 

 

草案後，經立法院向行政院提出 

36 A university degree in business is _________ for anyone interested in this job. 

explained maintained supported required 

37 English is now an _________ language because it is widely spoken around the world. 

impossible international innocent illegal 

38 Before the players start the game, their basketball coach always tells them to follow the _________. 

checks means rules shows 

39 For some people, the dinner didn't seem _________ without a dessert and a cup of coffee. 

positive complete partial tasteless 

40 People usually _________ to get a better quality of life, so destinations with a sunnier climate and cheaper 

cost of living are always popular. 

nominate debilitate emigrate captivate 

請依下文回答第 41題至 45題 

As we all know, millions of people receive psychotherapy to deal with psychological problems and to free 

themselves      41      emotional suffering. Typically, they will sit in an office with a therapist who is a member of 

a profession such as psychology or social work, and try to talk their ways to an improved state of mental health. 

The therapist,      42      , will use widely respected techniques such as helping them see the truth about their 

irrational beliefs or delving into the depths of the unconscious to reveal their hidden motivations. Unfortunately, 

people who seek out this kind of therapy often find that the therapy itself      43      emotional suffering, evoking 

difficult feelings such as vulnerability, anxiety, and sadness, and forcing them to      44      with therapists whose 

role automatically gives them the upper hand. Many people go through it anyway because they hope the truth will 

set them free, and they see the therapist      45      an expert who knows how to get at the truth of the mind. 

41 for out from against 

42 in case in turn for sure for instance 

43 fulfills arranges involves develops 

44 conflict concern interact influence 

45 as to for with 
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請依下文回答第 46題至 50題 

People are working to an older age in Britain. The number of 70-74 year-old people who work has doubled in the 

past decade. Around 10% of British people in their early 70s are now working. It is the highest figure since records 

began. The British government says just over a quarter of a million 70-74-year-olds currently have jobs. In 2005, 

there were around 100,000 of them. The government said people are working to an older age and are deciding to 

retire later. A labor union spokesperson said the reason for people working in their old age is because retirement 

pensions in Britain are becoming more difficult to live on. Many older people have to work and delay retirement to 

be able to survive. 

Employment spokesman Frances O'Grady said, “The last decade has seen [big] changes in the labor market, with 

far more people working beyond retirement age. While there are plenty who enjoy remaining in work, many need 

to earn extra cash because they cannot afford to retire.” He added that, “We need decent jobs and pensions for all 

so that people can make a genuine choice about whether they remain in work.” A spokesman for small businesses, 

John Allan, said more older people were starting their own businesses. He said, “More and more older people are 

[deciding on] a career change later in life and are starting up their own businesses, pursuing something they may 

have dreamed of doing for years.” 

46 What is this passage mainly about? 

The dream jobs and small businesses for senior citizens. 

The government's pension policies for retired citizens. 

The new retirement plans of the British labor union. 

The phenomenon and reasons of older people working. 

47 Which might NOT be the main cause of people working beyond retirement age in Britain? 

Small businesses are beginning to recruit senior citizens in Britain. 

British retirement pensions are becoming insufficient for senior citizens. 

More older people prefer to remain on the job beyond retirement age. 

Older people feel the need to make ends meet after their retirement age. 

48 According to the passage, which of the following statements is true? 

About one million 70-74-year-olds are delaying their retirement in Britain. 

Many older people decline government pensions to remain in workforce. 

Britain might need higher pensions and better job choices for senior citizens. 

The majority of older people in Britain are investing in small start-up businesses. 

49 What does the phrase “genuine choice” allow older people to do in the passage? 

To survive in the real world. To start their own businesses. 

To retire or work as they wish to. To have more job opportunities. 

50 According to the passage, what might NOT be a good solution to the phenomenon? 

To ensure that pensions can support older people after retirement. 

To offer more decent job opportunities. 

To make sure that the government extends the retirement age. 

To examine the current retirement situation. 


